http://www.artscipub.com/simpleton/simp-

guad.asp

147 MHz 4 Element Quad

Best Method

All ra-:hals are center notched
ta fit together &t the certer.

g
§'.
&
2
B
to wire elements g
Wire Hale Element
Length Spacing Spacing
mf rotictr [ go.g [ 3018 K
Driven Element 81" 28-5/16" 20-1/4 .
§ Diectort [77-13716"| 27-14" | 12218
: cl - z — >12-7/8"
Directar 2 74 25-7/8

where ART and Seience work for vou . Hints:

©2010 Bill Smith NEMQS all rights reserved www.rfsearch.com

After beam is assembled, find the balance paint

" and drill hales for U bracket.

Parts List

1-2X2°% 48" wood

8- 1% X 1% X% 36" wood

1 - 2 Uelamp with nuts and washers
8- 1.5 wood screws

30 feet of 14 gauge wire

Coax cable

Harizantal or Vertical polarization is changed
by feeding the driven elemert from side or
bottom.

Use side feed for Vertical polarization!

The center conductor of the coax will travel
around the driven element wire and short to the
coax shield!! All Quads do this.

http://www.repeater-

builder.com/antenna/pdf/2m-quad-

wa9gdz.pdf

16 IN. (4CG6mm }

o S
T B : ELASTIC &4ND
)-__ﬁ L e - =
SN e ==t

SFACER

CONTAINER COVER AND
SUPPORT RGOD MOUNT

CONMTAINER

COVER ™~

" DRIVEN LODP

COAX FEEL

Te AMTR /S RCOVA

CONTAINER » STAND
-

o

STAND STASILIZERS

o

i




http://www.amateurradio.bz/2m_backpack quad_antenna.html

Revised Plans

1 2" 3
i 1 I I 1 ]
Rl 15" DE[ 12308 ) _
Y . ) Boom Length
130" 1 6-3i2" 2014e" ‘?ﬁ? P(:,g";,f"“’
(4.4 e (125 emd TFaemy s
154" (7 rr) Holes (Top & Sided s .
| S _ - -1 Dia 14 7 mm)
1-558" (4.1 ey 16-5i8" (42.2 erm) 28" (73.7 ormi)

£ 1-798" (4.8 crm) E16-T"{(42.8cm) & 28-144" {743 cm)

Based on 145 tHz

R / T OE o1 A
F0-BE4 21-51 8" 20-27064%  |20-51/64" 2817z [ Z0-1 164"
(T6.6 crm (541 ermy (747 ermy  |{52.8 crm) F2.5cm) (51.2 crm}
1=
a5-1/4" a3-2i16" a0-111e"
{2165 cm) (211.2 e (205 ern)

KGEZZ

When calculating the length to cut the spreaders deduct 3/32" (about 2 mm) for the
14 gauge stranded bare copper wire, and deduct the distance needed for the two
nocks, from the total calculated spreader length. If the spreader is slightly too long

then use a rasp to file down one end of the rod taking care not o file too much off at

a time. Keep each pair of spreaders the same length.

. a3 i : 'w;uw..am.::ir:
Click here to watch a video about how to make this cable.

Em Parts

L]
®
-
®
-«
-
e
L
[}
L

[
3
L]

1-1/4" (40 mmj) or 1-1/2" (50 mm) PVC pipe, 30-7/8" (78.4 cm) long.
2 each 1-1/4" (40 mm) or 1-1/2" (50 mm) PVC pipe caps.

3 each §' (1.5 m) lengths of 1/4" (7 mm) fiberglass rods.

2 each #6 x 32 x 3/8" (10 mm) Machine screws.

2 each #6 x 32 nuts.

2 each #6 Spilit or internal tooth lock washers.

6 each #6 Crimp-on ring connectors.

2 each Uninsulated crimp-on butt end connectors.

3/8" O.D. x 1/4" 1.D. (7 mm 1.D.) x 1' (25 cm) Clear vinyl tubing.
12 each 1/4” (7 mm) Plastic kite nocks. See related video.

1 Piece of .080 weed trimmer string, 2" (50 mm) long.

Atleast 21' (6.4 m) of 14 gauge stranded copper antenna wire.
Mast mount clamp and hardware.

Telescoping Masis
Wowww.wenzlau.com
Masts, Towers, Trailers - GSA Sales 10'to
110", US Military Qualified

e




http://www.hamuniverse.com/kdmmg2maquad.html




http://www.hamuniverse.com/jpole.html

142" Riggid Copper Pipe
Cop emdds with /27 capc
ang soloer,

22/f(MHz) = feet

IIDII
705/f(MHz)=Feet
npn , MulTiply feet

oy 12 to get
total inches

234/f(MHz) = feet
IIBII

: > TuCo 23/f(MHz) = feet
| (Feed point)

Connect Coax Shield Here

i

E[IPP]RNDEXHES Connect Coax
: Center Here

Y

2’ Stoinless Steel Hose Clamps




http://www?2.fiu.edu/orgs/wéehw/j-pole-plans.html

N
FISHING MNYLON OR STRING >
D
CUT TV CABLE & WIRES j
&
|
|
|
| |
|

7

mhz

440 mhr

||  (po MOT SHORT WIRES) :

STAMDARD 300 OHM TwWiN LEAD TV >
CABLE. (CHEAP FLAT TYPE) !
Do NOT USE SHIELDED 1|

i TYPE CABLE. ::l\,,-,' |

CUT OUT NOTCH B WIRE

{OPEN CIRCUIT) \

CUT OUT SMALL NOTCHES IN INSULATION
T EXPOSE WIRES. (Do NOT

CUT WIRES)

SOLDER COAX LEADS TO WIRES AS SHOWN
MAKE LEADS FROM COAX AS SHORT AS
POSSIBLE.

37-1/4"
24-3/4"
7
6-1/2"

5
rds

L
:
e
|

e

B—1/4"
'IGII'
P

23 /4"

USE HEAT SHRINK TUBIMG &R ELECTRICAL
TAPE TO COAX FLAT AGAINST BOTTOM
PART OF CABLE.

S0 OHM COAX CABLE {(MINI RG-I74 OR
RG-58U) APPROX. & FEET LONG.

-1 /4"
r
|’J|r4“

/2"

=

LEAVE ABOUT I/2" OF WIRES EXPOSED
TWIST TOGETHER ANMD SCOLDER.

appropriate connector

FINE TUNE TO YOUR OPERATING FREQUENCY
BY ADJUSTING LENGTH OF BOTTOM STUE.
LISE AN ADEQUATE SWR METER.

MAXIMUM OFPERATING POWER IS 10 WATTS.

VDR (% VADW.JS) Design (First pubishedin the ARFL Emergency Coocdinator's Hancbook 1884)
L Updaled 1505 2000 vy

(EMERGENCY J-POLE ANTENNA )(WDaJR)




300 ohm Twinlead ‘,___ﬁr”" @&

F 3

(&> Twist together and solder the wires at both ends of the twinlead
The coax 1s connected at a point 5 1/2 inches up from the bottom.
Scrape the msulation off the Twinlead and solder the coax to the
exposed wire. Tape the connections and along the twinlead for
about
2 - 3 inches. This will act as a strain relief taking the weight of the
coax off the wire connection. Connect the shield to the 19 1/2 inch

side. Connect center conductor to the 59 1/2 inch side.
L“" o NOTES:

1. RG-174 coax can be used for runs not
—-Tr— longer than about 10 Ft.
-

1"

2. RG-58 AfU can be used for longer runs
3. Hang antenna away from other objects.
4. Attach a weight to the bottom to keep

twinlead straight otherwise large swings it
SWR wall be observed.

50 Ohm Coax DISTRICT 24 DOUGLAS & ELBERT C OUNTIES, COLORAD

&

19
5172 v

S

|

any length
F 2 METER - ROLL-UP
Install appropriate connector for your o J-POLE ANTENNA (300 OHM TWINLEAD

radio at the other end of Coax (BNC,
SMaA. PL-259. etc)

Drawn By:  K8VQC T__'_J_g_te: 12 September, 19!




air

o p i
N 4
\Fuin a7t

4 -40 Hardware
and Solder

N

450

Frequency (MHz) A B
146 19-5/18" 18-11/16"
225 12-5/8" 12*

445 6-3/8" 5-3/4"



DUAL BAND J-POLE 144/440Mhz

Orginal Plans By: Allen Lowe (N@IMW)

: Break Shown To Fit Part On Sh
Simple to create yet effective 144/440 Mhz Antenna. it = i

Materials Needed (Refer to parts list below)

- 8ft (96in) of 3/8" Aluminum Rod

-1 5-1/2" of Alumium Angle (1-1/2"X1-1/2"X3/16" THICK)

- 1 S0O-239 Female to 3/8"-24 Thread (Available At Radio Shack)
- 4 3/8"-24 Stainless Steel Nuts

- 3 Pliable Vinyl Caps (Optional)

Tools Needed (Basic Version)

- Tape Measure (Vernier/Caliper prefered)

- Marker (Automatic center punch prefered)

- Drill W/ Drills bits (up to 1/2")

- Saw (Hacksaw or Bandsaw with metal blade)

- File And/Or Sandpaper

- 3/8"-24 Tapping Die (With holder)

- 3/8"-24 Tapered Tap (With holder)

- Vise Grips with protective caps (Can use a rag instead of caps)

Instructions (Instructions are not exact, please use good judgement and saftey)

1.) Using your measuring device and marking device layout the holes on the angle as
shown on page 2.

2.) Drill the holes to 1/8" as pilot holes. Then drill to hole sizes listed on page 2.

If your using a different SO-239 Than what is listed here. please check the dimension

of the plastic washer that fits into the angle and check it's size (it might differ from each manufacture)
If different please change the 1/2" hole to the proper size far the plastic washer to fit snug.

3.) Use the 3/8"-24 Tap and thread the two smaller holes in the angle

4.) Using the saw cut the aluminum rod to the dimensions of 58", 18-5/8" and 6-3/4" These Dimensions
Might vary a little bit depending on the Jam nuts that are being used.

5.) Using the threading DIE, Thread the ends of the aluminum rod to around the dimensions
listed on page 2. Try not to over make the threads.

6.) Using a file/sander to take off any sharp edges or metal burrs.

7.) (Optional) Place protective caps over the 3/8" Rods
ISOMETRIC VIEW

8.) Assemble the antenna to the pictures shown. Maintain lengths of rod to the dimensions shown (RIFFERENT ANGLE)

PARTS LIST
ITEM [*123 PART NUMBER _ DESCRIPTION
X 1 5-1/2" ALUM ANGLE 1.5X1.5%.188 ALUM ANGLE
2 1 S0-239 SPACER Plastic Spacer
3 1 S50-239-STUD UHF W/ 3/8"-24 STUD
4 1 |SO-239-COLLAR 3/8"-24 Threaded Coupling - .
5 1 |19-1/4" Alum Rod 3/8" Rd. 19-1/4" Long Alum Rod VIEW1 Edited By . Jeffrey B
6 1 |6-1/4" Alum Rod 3/8" Rd. 6-1/4" Long Alum Rod .
7 4 [3/8"SSNUT 3/8"-24 Stainless Nut SCALE1/2 Http / / WWW



http://commfaculty.fullerton.edu/woverbeck/quagi.htm

http://kuday.gamersrevenue.com/quagi.html

http://www.frontiernet.net/~jgunsett/KZ6ZZ/Quagi.html#0



Hor-gain [dBi] a0y Hornizontal plane

105 5

4322 Mhz 120 B0

12

0 45

5

A
H]
5
165 15
180 T 1]
o

195 245

300
quagilopt3a . aut S5 205 999 ¢ dBi < 13.8
Theta= 90 270 Max gain Phi: 0



WETN QuagifT Antenna For non-conducting boom and
supports, wse sealedwood or fiberglass.

dir? dirE dir? diwd dirs dird dir3
|-20.61Y 2109
o b
D —
5 :
50 ohm coax
DE - driven el EEF - reflector

Antenna Characteristics: 23' 9"
11 Element Gain: 13.56 dBd at
144.100 Mhz

F/B: 23 dB

Stacking:
Optimum: E Plane: 13.73'
Optimum: H Plane: 12.86'

dir2 dirl driven reflector

non-conducting boom

dird

driven and reflector loops are formed from

#12 AW, TW insulated solid copper wiare.

The total wire lengths are:
driven; 2243 mehes
reflector: 84 37 mches

non-conducting

supports

teflector
dird

dir3

foarym "
Dirvectors are made

from sold abimarmam
vods, /16" diameter.
Eefar to the Chiam97
measurement table for
length of each element,
and spacing betareen

Lelements.




These documents are free to Amateur Radio Operator's and Not-for-Profit organizations.
Permission to display elsewhere requires permission of the author(s) and a permit number;
Permit number request to display document (include file title). All credits and titles must
remain a part of the original file or document. Each file is () and/or 8™ of the author.
BUXCOMM, agents, or employees, are not responsible for errors or ommissions.

Use of information contained in each file is at your own risk.

Serving HAM Radio since 1959, On the Web Since 1995

Order Toll Free Monday through Friday, 9 am to 4 pm, 1 800 726 2919 or 1 866 300 1969, Saturday 9 AM to 2 PM ALL Times, Eastern
NO MINIMUM ORDERS, Same Day Shipping, except Sunday and Holidays
We accept:

The HAM Radio Operator's Antenna Handbook

by Buck Rogers ( K4ABT, more than 68 years) HAM = Helping All Mankind
For TNC to Radio Interface Cable Diagrams, CLICK HERE ! For PSK31 & SSTV Interface Diagrams, CLICK HERE !

http://www.buxcomm.com/antennas.htm






